&0 Gt glg =B

Phép cdng 2 chir s6 (Cong 3 s0)

Tén:

96
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Ngay thang:

58
69
+93

17
10
+83

41
11
+46

37
66
+86

83
44
+17

Piém:

85
47
+65

14
47
+98

67
27
+85

79
74
+51

34
85
+19
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o % ;1; 5% Phép cong 2 chir s6 (Cong 3 s6)

Tén: Ngay thang: Piém:____
96 53 30 58 35
/8 96 33 69 47

+10 +79 +60 +93 +65
184 228 123 220 197
57 /71 23 17 14
20 27 56 10 47
+99 +60 +31 +83 +98
176 158 160 110 159
31 14 94 41 67/
31 58 /71 11 27
+16 +53 +17 +46 +85
128 125 182 98 179
94 52 99 37 79
47 56 97 66 74
+60 +78 +55 +386 +51
201 186 257 189 204
93 50 22 33 34
31 57 21 44 85
+40 +22 +10 +17 +19

214 129 53 144 138
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